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SA - ZE . BR(8) - HRAR - BES of v e HIDE2
14 IIEt2 8= 26,040 26,040 0
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==Y 250,000 250,700 AT700
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O0I0tE 2 1HA OISEH HUIBA 35,000
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03 M EHE2SHIEX 3,600 3,600
OMbt==2S sHSE23 29
1,200,000 %14 1,200
OMil==2=s sHsRHa 24|
1,200,000 %1 1,200
OtriENa|=zs sHsE 23 24
1,200,000& x 1= 1,200
401 Al HIZL 01| 1,500 1,500
01 Al&H| 1,500 1,500
OFAL &&= 2| & JH|
375,000 43 1,500
AL RN (L) 250,600 250,600 0
F=OI=JAY 250,600 250,600 0
FUFO 0l AH (P HH 250,600 250,600 0
401 Al HIZL S 0HYI 250,600 250,600 0
01 Al&HI 250,000 250,000 0
St B2 HUISA
40,000,000 x 14 40,000
OS4t MIE ZHISA 40,000,000 *14] 40,000
O=g M&E HUISA 40,000,000& *14] 40,000
OWzI0I= otz UISA
30,000,000 *14{ 30,000
OZ=20l= M& JUISA
40,000,000 *14] 40,000
OFEd F0IEZ RA2ACIAE
30,000,000 *14! 30,000
O2s =2 HHISA
30,000,000& *14{ 30,000
03 Al 2 CHHI 600 600 0
OF2F o0& HoAE ol &
50,0002 122 600
Y 2HAH|(RHH) 257,525 243,010 14,515
el 2| 132,379 125,212 7,167
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Ozxu=z2e=g 126,414
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M ORNZZ2NSE S 5,965 5,657 308
OFA Lh 22FH
9,620 %2 . 5A| 2248 5,965
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01 At2teltl 41,686 34,338 7,348
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